@ 6 A A Bl

R. 01406 H09H

gL K4 ouT IN Total Hdcp Net IEGL K4 ouT IN Total Hdcp Net
o _ BUSX 99 BYSX
aH# = | 45] 45 90[ 30.0[ 60.0] WA & | 51] 42] 93] 13.0[ 800
! BYS5R BYZR
R hg E | 43] 46] 89 28.0] 61.0| % A | 46] 51] 97 17.0] 80.0|
s BYSZ| BYSA
MR BRI | 39] 41 80 13.0[ 67.0] W =5 [ 43] 52[ 95 15.0[ 80.0|
A BYSZ| BYSA
FH - | 43] 40] 83 152] 678 Bl #ZX | 54] 45] 99 18.1] 809
5 BYSR| BYSA
WA #ig [ 44] 46]  90] 215] 685 He FM | 45] 52 97 16.0] 81.0]
6 BUSR 34 BYSX
KHE EE | 43] 417 84 150 69.0] PR HE | 45] 54 99 16.0] 83.0]
, BYSR| . BYSR
ita -z | 41] 44] 85 15.0[ 700 wH b | 55] 45] 100] 16.0[ 84.0|
8 BY35X 36 BYSX
KHE f#—ER | 47] 41] 88 180[ 70.0] =5 BE | 51] 57] 108] 23.8] 84.
0 BYSR| BYSA
ISH A | 46] 43] 89 16.7] 723 wE #7 [ 54] 54] 108] 23.0[ 85.0|
0 BYSZ| BYSA
A R&E | 43] 49] 92] 192] 728 TH RX | 56] 52] 108 22.0] 86.0]
» BYSZ| BYSA
A Fif | 43] 44] 87 140] 730| =57 & | 61] 50] 111 25.0[ 86.0]
0 BYSZ| BYSA
A MIE | 417 45] 86| 13.0] 73.| WA Fofd | 61] 50] 111 21.0[ 90.0]
13 BYSX 41 B BYSX
"t = [ 44] 49] 93] 195] 735 BE & | 57] 57 114 230[ 91.0|
' BYSZ| ,, BYSA
Hf F— | 46] 48] 94 200[ 740 INROBE | 66] 50[ 116] 24.0[ 92.0|
5 BYSZ| . BYSA
BP A | 55] 51 106] 320[ 740 it FE | 53] 54[ 107 15.0[ 920|
6 BYSZ| ,, BYSA
Bl % | 44] 51 95 21.0[ 740| =H %2 [ 57] 73] 130] 35.0[ 95.0|
" BYSR| . BYSA
RH & | 50] 45[ 95 20.0[ 75.0] BEE | 61] 52[ 113 16.0[ 97.0]
18 BUSR 45 _ BYSX
ERE Fi¥ [ 44] 52] 96 21.0[ 750 EH B [ 59] 57] 116 17.0[ 99.0]
19 ) BYZX
B R | 41] 48] 89 13.0] 76.0]
20 BYSA
2N & | 49] 46] 95 19.0] 76.0]
21 BY32X
T #E— | 46] 44] 90 14.0[ 76.0]
 _ BYSA
f8H EX | 51] 50] 101] 25.0] 76.0]
23 BY3X
iR EX | 43] 47]  90] 13.0] 77.0]
”a BY5X
= | 52] 50] 102 250 77.0]
95 BYSR
= & | 49] 53] 102 232] 78.8]
2 BY32X
B BEZ | 48] 48]  96] 17.0] 79.0|
” BYSA
M5 RIS | 54] 54] 108 29.0] 79.0]
28 BY32X
WA %8 | 46] 49] 95 15.0] 80.0]
' ouT N
HOLE | 1 2 | 3| 4|5 ]| 6 7 8 | 9 10| 11| 12| 13| 14| 15| 16 | 17 | 18 Total
PAR 5134|444 |53 | 4 36| 4| 4|4|3|4|5]| 4|3 5 36| 72
EIAH N —(B LR Page 1/ 1




